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THALES FOUNDATION, CYPRUS

1. Which digits are missing?
Moia wneoia Acitrouy;

(A)3and5 (B)4and8 (C)2and0 (D)6and9 (E)7andl
(A) 3kal 5 (B) 4 ka1 8 (C)2kai O (D) 6 ka1 9 (E) 7 kan 1

2. There are 12 books on a shelf and four children in a room. How many books will
be left on the shelf if each child takes one book?

Mavw oTo pdgi uttdpyouv 12 BiBAia kal oTnv aiBouca uttTdpxouv TEaoepa TTaIdIA.
Moéoa BiBAia Ba ueivouv Tédvw oTo pdgl av To K&Be TTaidia TTapel éva PIBAIo;

(A) 12 (B) 8 (C) 4 (D) 2 (E) 0

3. Which of the dresses has less than 7, but more than 5 dots?
MNoio atmd Ta popépaTa £xel AyOTEPES OTTO 7, AAAG TTEPIOOOTEPEG ATTO S K9KKi5£§.
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THALES FOUNDATION, CYPRUS

4. There are white, grey and black kangaroos. Which picture has more black
kangaroos than white kangaroos?

YTdpyouv doTrpa, ykpida kal paupa Kavykoupou. lNoia eikova €xel TTepiocoTepa
Maupa KavykoupoU atré aoTrpa;
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5. How many more bricks are there on the larger stack?
Méoa mepioadTepa TOURAC €€l TO EYAAUTEPO KTIOUQ;

(A) 4 (B) 5 (C)6 (D) 7 (E) 10

6. There is a path with square tiles. How many tiles fit in the white area inside?
Y1apyel éva JovoTTaT pe TETpdywva TTAAKAKIA. MNéoa TTAaKAKIa XwpoUuv HEca
OTOV AOTTPO ECWTEPIKO XWPO;

(A) S (B) 6 €7 (D) 8 (E)9



